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1 Differential Jet Rate
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2 Graviton kinematics
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3 Jet PT
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4 Jet rapidity

4.1 Jet Rapidity: Production 1, jets with minimal Pr of 0 Gev
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Rapidity of jet n°3 with P, >0
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4.2 Jet Rapidity: Production 1, jets with minimal Pr of 50 Gev
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4.3 Jet Rapidity: Production 1, jets with minimal Pr of 100 Gev
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5 Ht calculation

5.1 Ht calculation: Production 1, done with minimal Pr of 0 Gev
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5.2 Ht calculation: Production 1, done with minimal Pr of 50 Gev
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5.3 Ht calculation: Production 1, done with minimal Pr of 100 Gev
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6.1 Production 1

E £ E
E Summed Contributions o | ‘Summed Contributions
E e +3jets incl. el o +3jets incl.
r +2jets excl. Q [ +2 jets excl
..... s e 101
? +0jets excl.: void E +0jets excl.: void
[ 10? E
3 10° E
[ N T P P R 104 B i L e ey as!
500 1000 1500 2000 2500 3000 3500 4000 4500 50( 500 1000 1500 2000 2500 3000 3500 4000 4500 50(
H,(1 jets) with PT>100 H,(2 jets) with PT>100
E c E
Summed Contributions 5 = Summed Contributions
= +3 jets incl e c e +3 jets incl.
E “2jeisexcl s +21ets excl: void
£ +1 jets excl.: void 10 E +1 jets excl.: void
r +0 jets excl.: void = ~— +0 jets excl.: void
E 10° E
E 10* E
;JL""w‘H‘m‘H\H‘w‘H‘\HH\HH\HHFLH L S T T P TR TR
500 1000 1500 2000 2500 3000 3500 4000 4500 50( 500 1000 1500 2000 2500 3000 3500 4000 4500 50(
H,(3 jets) with PT>100 H,(4 jets) with PT>100
c E
5 L Summed Contributions
~ [ B N
> 1 N EEE T +3 jets incl.
Q 1 +2 jets excl.
= +1 jets excl.
- +0 jets excl.: void
1021
10°E
P T DR TR S i B e TR I = S DTSR T B

0 100 200 300 400 500 600 700 800 900 10(

Missing Transverse Energy



